AR5 Standard Redyction Potensiols ot 25°C {193 K) for

Bany Common Half-Reactions

Half-reaction

o+ 2e= 5 2~

AgPT +em o Agt

Co't + e~ (o2t

H202 +2H* + 287 — 2H20

Ce*t + o™ s (a3

Pb02 + 4H* + 8042_ + 287 — PbSO_n; + ZHZO
MnG,~ + 4H* + JeT — MnO, + 2H,0O
2e” + 2H* + :[04— — IOgﬁ + Hzo
MnG,~ + 8H* + 52— s Mn2t + AH,0
Avdt 430~ s Ay

PbOy + 4HT + 26~ sy PRI+ + 2H,0O
Ch+2e~ — 201~

CIZO;;:Z‘ + M4H*T + fe” — 2003 + 7H20
Oz +4H* + 4o~ — 21,0 :
MnO; + 4H" + 2~ s M2+ + 2H,0
1057 + 6HY + 5¢~ - 1L, + 31,0

Br, +2e” - 2Br—

VO "+ ZBY + 2~ s VORF 4+ 0
AnCL™ +3e™ — An + 40T

NO;™ +4HY + 3~ = NO + 2H;0
€0, + e~ — Clo,~

ZHg™ + 2™ — Hg,2*

AgT +e” 5 Ag

Hg** 42~ — 2Hg

Fed* 4 e~ 5 Fe2t

Oz + 2H' + 267 = H0,

MnO,~ +e¢ —s MnOQ2~

Li+2 — 210

Cut+e” = Cu

B (V)

2.87
1.99
1.82
178
170
1.69
1.68
1.60
1.51
150
146
136
133
123
121
120
1.09
1.00.
0.99
0.96
0.954
0.91
0,80
0.80
0.77
0.68
0.56
0.54
0.52

1 02 + 2H20 +4eT 4OH—

Half-reaction

Cu?* +2e~ 5

Hg;_ng_ + 287 2Hg +2C1™
ApCl4+ e — Ag 4+ CI™
SO + 4HY + 20— H3805 + H,0
Cu®t +e™ 5 Oyt

2H" +2e” — H,

Fe3* + 3e~ _5 Pe

PH?* 4+ 26~ 5 ph

Sn2t + 22~ 5 sp

Ni2t +2e~ Ni

PbSOy + 26~ — pp = S04~
Cd>* 4 26~ Cd

Fe?t + 76~ . T

Cot + e~ 5 o2+

Cr + 3%~ = O

Zn?* £ 0em Zn .
ZHQO + 26_“ —> Hz + 20H-
Mo?* 4 2e— Mn

ALY 30~ A

H, + 22~ — 20~

Mg** +2e™ — Mg

La®t + 3¢~ = Ia

Nat +¢" — Na

Ca®* ++ 20— Ca

Ba?t + 267 - Ra

Kf+e - K

Lit+e™ —» Li




